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ol s rectangle = length x breadth
mcr ofarectangle = 2(length + breadih),

Area of a (g

Jengt A ‘(n + b)h wh

. ~ N y a .\‘;‘ ere a nnd b h

piagondl of arectangle = y/(length)” + (breadih)? parallel sides and j i the : are the
sides. Istance between the parallel

ea of 8 square ~ (side)’

A .
rimeter of a square = 4 x side rea of regular hexagon of side a

6% Area of an equilateral triangle of side a

piagonal of a square = J2 xside. :
l =6 x Ta)
fatriangle = — bh where b is the base and h i
Area 0 gle= % nd A is the - 3—@
altitude. 2

\rea of a triangle = /s(s — a)(s = b)(s - ¢) where
S © ILLUSTRATIVE EXAMPLES
2

is the semi-perimeter of the triangle whose

5=

1. An isosceles triangle has perimeter 30 cm and each of
its equal side is 12 cm. Find area of the triangle.

1 1 ——J e ) 'dside=30—(12 l2)=6cm
Area ofan = 4b2 il a2 where a Sol hir L
1sosceles trlangle

sides are a, b and c. This is called Heron's formula.

' a=12,6=12,¢=6
s the base and equal sides are b each.
Area of an equilateral triangle of side a : s=a+b+c _12+12+6 -t
NE) ¥ 2 2
I oo £ )(s=b)(s=¢)
' = s - S = -
Areaof a parallelogram = bh where b is the base and A o A=qys(s-a
s the altitude.

= JIsQ5 -1 (15~ 12)(15-6)
Area of a thombus with diagonals d, and d, JI5¢

dxd -m

Perimeter of 5 rhombus with diagonals d, and d, SCNECL

g 21[dl +dj .
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am Mee
ogra” 42 cm

srallel y
2. The adfacent sides of A P¢ e il ;
: /20 cm and the diagonal
i s : !
the arca of the /:rt/'.///( logra
‘
Sol. For AABC
A
20,
B 4'
a™ 34 ¢cm
h=42 cm
Sol.

¢=20cm
a+b+c 34+42+20

fy 2 2

=48 cm

ar (AABC) = Js(s —a) (s = b) (s =€)
= J48(48 — 34) (48 — 42) (48 - 20)

= /48 x 14 x 6 x 28

=336 cm?
area of the parallelogram

=2ar(AABC)

=672 cm’

3. Atriangle and a parallelogram have the same base and
the same area. If the sides of the triangle are 15 cm,
14.cm and 13 cm and the parallelogram stands on the
base 15 cm, find the height of the parallelogram.

ol. For triangle

a=15cm S.
b= 14 cm
c=13cm

Sol.

1y a+b+c_‘l5+l4+]3
270§ e g e

Area of the triangle

- s(,y—a)(s—b)(s‘c)
= 1/2](21—!5)(21—]4)(21—13)
=,/21x6x7x8

=21 cm

_ g4 e’
=8 > parallelogram be 4 cm.
0

,i sht
e helg arallelogram

=

. f the parallelogram s 5 ¢ e
he height 0 m
HenCC, t

k in a city has dimensiong 3 i

_ ar \
A triang;/;; ,pdene" has to plant grass insiq, the r:n
\:‘ 1250”;” . Find the amount (0 be paid to th, g“’den:
For triangular park
2=30m
b=26m
C= 28 m
atb+c_30+26+28

Area of the triangular park

= fsG-a(s-b)(5-0)

= J42(42-30) (42 - 26) (42 =75

=J42x12x16x 14

=336 m?
Amount to be paid to the gardener
=336 x 1.50 =% 504

The perimeter of a triangular ground is 900 and ifs sid:
areintheratio3 - 5 - 4 Using Heron's formula, findih
area of the ground

Perimeter=900
Ratio=3 . 5 4
Sum of ratios = 3 S+ 4= 19
Sides are 2 X 900 S x 900 2 x 900
12 P #i
or 225, 375, 300
a=2958
b=375

=300
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